
Converting Between mm and m (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.

÷ ×gi
ga

G
9 8 7

m
eg
a

M
6 5 4

ki
lo

k
3

he
ct
o

h
2

de
ca

da
1 0

de
ci

d
-1

ce
nt
i

c
-2

m
ill
i

m
-3 -4 -5

m
ic
ro

µ
-6 -7 -8

na
no

n
-9

Base

1. Convert 7,832,000mm to m

2. Convert 0.012m to mm

3. Convert 0.049m to mm

4. Convert 52,300mm to m

5. Convert 0.00016m to mm

6. Convert 51,000mm to m

7. Convert 0.0013m to mm

8. Convert 3,650,000mm to m

9. Convert 2.91m to mm

10. Convert 1980mm to m
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Converting Between mm and m (G) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: × ÷ ² ³.
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Base

1. Convert 7,832,000mm to m
7,832,000mm ÷ 10 ÷ 10 ÷ 10 = 7832m

2. Convert 0.012m to mm
0.012m × 10 × 10 × 10 = 12mm

3. Convert 0.049m to mm
0.049m × 10 × 10 × 10 = 49mm

4. Convert 52,300mm to m
52,300mm ÷ 10 ÷ 10 ÷ 10 = 52.3m

5. Convert 0.00016m to mm
0.00016m × 10 × 10 × 10 = 0.16mm

6. Convert 51,000mm to m
51,000mm ÷ 10 ÷ 10 ÷ 10 = 51m

7. Convert 0.0013m to mm
0.0013m × 10 × 10 × 10 = 1.3mm

8. Convert 3,650,000mm to m
3,650,000mm ÷ 10 ÷ 10 ÷ 10 = 3650m

9. Convert 2.91m to mm
2.91m × 10 × 10 × 10 = 2910mm

10. Convert 1980mm to m
1980mm ÷ 10 ÷ 10 ÷ 10 = 1.98m
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